
The Physics Placement Exam covers a range of topics, including:  

1) Units Conversion and Significant Figures Rules

2) One-Dimensional Motion (Position, Displacement, Velocity, Speed and Acceleration)

3) Free Fall

4) Vectors

5) Two-Dimensional Motion – Projectile Motion

6) Newton’s Laws

7) Friction Force

8) Uniform Circular Motion

9) Work, Kinetic Energy and Power

10) Work and Kinetic Energy Theorem

11) Potential Energy, and the Conservation Law of Mechanical Energy

12) Linear Momentum, Impulse, and Collisions

13) Electric Charge, Electric Force and Electric Field

14) Electric Potential and Electric Potential Energy

15) Capacitors

16) Current, Current Density, Resistivity, and Resistance

17) Ohm’s Law

18) Magnetic Field and Magnetic Force on Point Charge (The Lorentz force)

19) Magnetic Force on a Wire Carrying Current

20) Magnetic Force between Two Parallel Wires

21) Geometric Optics, Reflection, Refraction, and Critical Angle

22) Curve Mirrors and Thin Lenses
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Physics Placement Exam Sample RIT Dubai

================================================================================================
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1) A block of mass m = 6.7 kg, moving on a frictionless surface with a speed vi = 9.9 m/s, makes a

sudden perfectly elastic collision with a stationary block of mass M, as shown in the figure. Just

after the collision, the 6.7-kg block recoils with a speed of vf = 2.2 m/s.What is the speed V of the

other block?

A) 7.7 m/s B) 12.1 m/s C) 11.0 m/s D) 8.8 m/s E) 9.9 m/s

1)

==========================================================================

2) A 6.0 μF and a 8.0 μF capacitor are connected in series across an 8.0-V DC source. What is the

voltage across the 6.0 μF capacitor?

A) 4.6 V B) 2.7 V C) 0 V D) 3.6 V E) 8.0 V

2)

==========================================================================

3) What length of copper wire (resistivity 1.68 × 10-8 Ω∙m) of diameter 0.15 mm is needed for a total

resistance of 15 Ω?

A) 16 m B) 160 m C) 16 cm D) 1.6 m E) 16 mm

3)

==========================================================================

4) What is the conversion factor between km/h and m/s?

A) 7.72 × 10-5 (m/s)/(km/h)

B) 2.78 × 10-1 (m/s)/(km/h)

C) 16.7 (m/s)/(km/h)

D) 3.60 (m/s)/(km/h)

E) 1.30 × 104 (m/s)/(km/h)

4)

==========================================================================
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5) A +8.00-μC charge is situated along the +y-axis at y = 0.400 m. What is the electric potential at the

origin because of this charge?

A) 0 V

B) +180 × 103 V

C) -180 × 103 V

D) +288 × 103 V

E) -288 × 103 V

5)

==========================================================================

6) A 2-kg ball is moving with a constant speed of 5 m/s in a horizontal circle whose radius is 50 cm.

What is the acceleration of the ball?

A) 10 m/s2 B) 20 m/s2 C) 500 m/s2 D) 50 m/s2 E) 0 m/s2

6)

==========================================================================

7) A piece of plastic has a net charge of +2.00 μC.  How many more protons than electrons does this

piece of plastic have?

A) 2.50 × 1019

B) 0

C) 1.25 × 1019

D) 1.25 × 1013

E) 2.50 × 1013

7)

==========================================================================

8) Starting from rest, a 4.0-kg body reaches a speed of 8.0 m/s in 2.0 s.  What is the net force acting on

the body?

A) 2.0 N B) 4.0 N C) 8.0 N D) 32 N E) 16 N

8)

==========================================================================

9) Vector A  has a magnitude 5.00 and points in a direction 30.0° clockwise from the negative y axis.

What are the x and y components of vector A .

A) Ax = 4.33 and Ay = 2.50

B) Ax = -2.50 and Ay = -4.33

C) Ax = 4.33 and Ay = -2.50

D) Ax = 3.78 and Ay = 4.29

E) Ax = -2.50 and Ay = 4.33

9)

==========================================================================
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10) A 1500-kg car accelerates from rest to 25 m/s in 7.0 s.  What is the average power delivered by the

engine? (1 hp = 746 W)

A) 70 hp B) 80 hp C) 60 hp D) 90 hp

10)

==========================================================================

11) As shown in the figure, a projectile is fired at time t = 0.00 s, from point 0 at the upper edge of a

cliff, with initial velocity components of v0x = 70 m/s and v0y= 800 m/s. The projectile rises and

then falls into the sea at point P. The time of flight of the projectile is 200.0 s, and air resistance is

negligible. At this location, g = 9.80 m/s2. What is the horizontal distance D?

A) 20,720 m B) 15,680 m C) 14,000 m D) 19,040 m E) 17,360 m

11)

==========================================================================

12) When an object is 20 cm in front of a concave mirror, the image is 5.0 cm in front of the mirror?

What is the focal length of the mirror?

A) -2.1 cm B) 6.7 cm C) -0.25 cm D) 25 cm E) 4.0 cm

12)

==========================================================================

13) An object is thrown upwards with a speed of 12 m/s. How long does it take to reach a height of 3.0

m above the projection point while descending?

A) 0.42 s B) 3.1 s C) 4.2 s D) 1.2 s E) 2.2 s

13)

==========================================================================

14) A charge Q = -5 μC is located at the origin. The electric field created by this charge at a point of

coordinates (x = 0 m, y = 10 m) is equal to

A) (0.45 × 103 N/C) i
^
 .

B) (-0.45 × 103 N/C) j
^
 .

C) (-0.05 × 103 N/C) j
^
 .

D) (-0.45 × 103 N/C) i
^
 .

E) (-4.5 × 109 N/C) j
^
 .

14)

==========================================================================
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15) The force of attraction between a -35.0 μC and +101 μC charge is 4.00 N. What is the separation

between these two charges?

A) 2.10 m B) 2.82 m C) 2.49 m D) 3.67 m E) 1.13 m

15)

==========================================================================

16) In the figure, block A has a mass of 2.60 kg. It rests on a smooth horizontal table and is connected

by a very light horizontal string over an ideal pulley to block B, which has a mass of  1.60 kg. When

block B is gently released from rest, how long does it take block B to travel 80.0 cm?

A) 0.494 s B) 0.404 s C) 0.785 s D) 0.654 s E) 0.935 s

16)

==========================================================================

17) What is the minimum energy needed to change the speed of a 1600-kg sport utility vehicle from

15.0 m/s to 40.0 m/s?

A) 20.0 kJ B) 40.0 kJ C) 0.960 MJ D) 1.10 MJ E) 10.0 kJ

17)

==========================================================================

FIGURE 1

18) Four resistors of values 2 Ω, 4 Ω, 3 Ω, and 9 Ω are connected across an 8-V DC source as shown in

Fig. 1. What is the current through the 9-Ω resistor?

A) 0.9 A B) 2 A C) 0.7 A D) 0.5 A E) 1 A

18)

==========================================================================
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FIGURE 1

19) Fig. 1 represents the position of a particle as it travels along the x-axis. What is the average speed

of the particle between t = 1 s and t = 4 s?

A) 1.0 m/s B) 1.3 m/s C) 0.25 m/s D) 0.67 m/s E) 0.50 m/s

19)

==========================================================================

20) An electron moving perpendicular to a uniform magnetic field of 3.2 × 10-2 T moves in a circle of

radius 0.40 cm. How fast is this electron moving? (mel = 9.11 × 10-31 kg, e = 1.60 × 10-19 C)

A) 1.9 × 10-2 m/s

B) 8.0 × 106 m/s

C) 2.2 × 107 m/s

D) 3.0 × 106 m/s

E) 1.9 × 10-30 m/s

20)

==========================================================================

21) What is the critical angle for light traveling from crown glass (n = 1.52) into water (n = 1.33)?

A) 57° B) 53° C) 61° D) 48° E) 42°

21)

==========================================================================
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22) In the figure, a ball hangs by a very light string. What is the minimum speed of the ball at the

bottom of its swing (point B) in order for it to reach point A, which is 1.0 m above the bottom of the

swing?

A) 4.9 m/s B) 3.1 m/s C) 4.4 m/s D) 2.2 m/s

22)

==========================================================================

23) What is the product of 13.95 and 2.83 expressed to the correct number of significant figures?

A) 39.48 B) 39 C) 39.479 D) 39.5

23)

==========================================================================

24) A car is traveling with a constant speed when the driver suddenly applies the brakes, giving the

car a deceleration of 3.50 m/s2. If the car comes to a stop in a distance of 30.0 m, what was the carʹs

original speed?

A) 14.5 m/s B) 315 m/s C) 105 m/s D) 210 m/s E) 10.2 m/s

24)

==========================================================================

25) During a hockey game, a puck is given an initial speed of 10 m/s.  It slides 50 m on the horizontal

ice before it stops due to friction.  What is the coefficient of kinetic friction between the puck and

the ice?

A) 0.090 B) 0.10 C) 0.12 D) 0.11

25)

==========================================================================
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Answer Key
Testname: PHYSICS PLACEMENT EXAM SAMPLE VERSION1

1) A

2) A

3) A

4) B

5) B

6) D

7) D

8) E

9) B

10) D

11) C

12) E

13) E

14) B

15) B

16) D

17) D

18) C

19) B

20) C

21) C

22) C

23) D

24) A

25) B
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